Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

Ratio

-1

[ Efficiency vs dr (track,jet) |

T 5||n{vcuu|_¢uuu:v|
=eV

: g%%‘ﬁ—ﬁ%ﬁe&bn}.ER 1000evt

1
TP min AR

5005
0.045
=
£0.04
<
£.035
>
20.03
c
$9.025
&
©0.02
0.015
0.0
0.005

1.0

Ratio

Efficiency vs pu

10
AR(TP, jet)

0.5

°
N
i

iciency vs PU
o
i

effi
=}
w
IIIII

0,255 oo
02f e f
T SO SO

0.08F v

S0.35F et

................................................

................................

............................

. . E 3
0.1~ FE SR e H—— e E--

Ratio

15[ b fis

L
o+

T

40 50 60 70 80 90 100

Pileup



	Contents
	Page 1


